## NAME: SAJID AHMAD

**ID: 12671** 



Iqra National University, Peshawar Department of Electrical Engineering



Mid – Term Examinationspring2020 Date:

Course Code:	MTH 102			Cour	se Title:	Calculus and analytic geometry	
Prerequisite:				Instr	uctor:	HIMAYATULLAH	
Module:	3	Program:	BEE	<b>Total Marks:</b>	30	Time Allowed:	90 min

Note: Attempt all questions.PLO: program learning outcome C:Cognitive

Q1.	(a)	Identify $\lim_{h \to 0} \frac{\sqrt{2+h} - \sqrt{2}}{1}$	Marks 5
		n n	CLOI Cl
	(b)	Find the first order derivatives of the function $y = \left(x + \frac{1}{x}\right)\left(x - \frac{1}{x} + 1\right)$	Marks 5 CLO1 C1
Q2	(a)	<ul> <li>A dynamite blast blows up a heavy rock with launch velocity of 160m/sec reaches a hight of s = 160t - 16t<sup>2</sup> ft after t sec,</li> <li>(i) How high does the rock go</li> <li>(ii) Find the velocity and speed of the rock when it is 256 ft above the ground on the way up and down</li> <li>(iii) find the acceleration of the rock at time 5sec</li> </ul>	Marks 10 CLO2 C2
Q3	(a)	Does the curve $y = x^4 - 2x^2 + 2$ have nay horizontal tangent if so where ?	Marks 10 CLO1 C1

Module: 10 The Senester Nome: Sojiid Alimond IO: 1671 Parogram : BE(E) Subject & Calculas & Analytic Gametry Instructors Sir, Himstorteller Q1: @ Identify lim 12+h-52 h-ro h Selan lin 12+4-12  $= \sqrt{2+0} - \sqrt{2} = \sqrt{2} - \sqrt{2}$ = 0 = % form So then lim 1+4 - 12 Xing & sing by N2+t + N2  $\lim_{h \to 0} \frac{\sqrt{2+h} - \sqrt{2}}{h} \times \frac{\sqrt{2+h} + \sqrt{2}}{\sqrt{2+h} + \sqrt{2}}$  $\frac{(12+R-f_2)(\sqrt{2+R}+f_2)}{(R)}$ = lim h-yo = lim (12+1) = - (12)2 R ( 12+4 + 12) horo K+h-K R (N2+h +N2) fim 

Madule: 10th Sanda Nome: Sajid Alunad Program: BE(E) Shint Calculas & Amylic Gametry. Instructor : Sir Him later = Gim \_\_\_\_\_\_ h->0 h(12+h+12)  $\frac{1}{1 \rightarrow 0} \frac{1}{\sqrt{2+h} + \sqrt{2}}$ Apply limit  $= \frac{1}{\sqrt{2+0} + \sqrt{2}}$ = -1 $\sqrt{2} + \sqrt{2}$ = 212 Ans. Salo-, ¥= (x+ f) (x- ++1)  $\frac{dy}{dx} = \frac{d}{dx} (x + \frac{1}{x}) (x - \frac{1}{x} + 1)$ 2

Product Reele  $= (x + x') \frac{d}{dx} (x - x' + 1) + (x - x' + 1) \frac{d}{dx} (x + x')$ =  $(x + \bar{x}') (1 + \bar{x}') + (x - \bar{x}' + 1) (1 - x^2)$  $= (x + \frac{1}{x})(1 + \frac{1}{x^{2}}) + (x - \frac{1}{x})(1 - \frac{1}{x^{2}})$  $= x + x + \frac{1}{x^2} + \frac{1}{x} + \frac{1}{x^3} + x - x + \frac{1}{x^2} + \frac{1}{x^3} + 1$  $= 2x + 1 - \frac{1}{x^2} + \frac{1}{x^2}$ Ars.) 22 A dynamite blast blows up a havey with lounds velocity of 160 m /sec Jack reaches a hight of s= 160 t - 16t ft offy Ssec + sec. <u>Soles</u> S = 160t - 16t° ft

(i) Velecity is:  

$$U = \frac{ds}{dt} = \frac{d}{dt} (160t - 16t^{2})$$

$$= \frac{d}{dt} 160t - \frac{d}{dt} 16t^{2}$$

$$V = 160 - 32t$$

$$Mosimum Freight$$

$$U = 0$$
So  

$$160 - 32t = 0$$

$$\frac{160}{32} = \frac{37t}{32}$$

$$\frac{150}{32} = \frac{37t}{32}$$

$$\frac{160}{32} = 5(5) = 160(5) - 16(5)^{2}$$
Smax = 400ft  
Given Theat:  

$$S = 256 \text{ ft}$$

$$\frac{160t}{16t^{2}} = 160t + 256 = 0$$

(iii) Find the acceluration of the rock 5 sec. time Solo Since V= 160 - 32t Acceleration, a = du = d (160 - 52+) a = 0 - 32 m/st  $Q = -32 m/s^2$ Does the curve y = x - 2x2 + 2 true Q 3 horizontal tempent if so where? Solo 4=x4-2x2+2  $d_{x} = d_{x} (x^{4} - 2x^{2} + 2)$ = dx x - dx 2x2 + dx 2

 $\frac{16}{44}(t^2 - 10t + 16) = \frac{0}{16}$ 12- 10t + 16 = 0 + - 8t - 2t + 16 = 0 t(t-8) - 2(t-8) = 0(t-8)(t-2) = 0t=8, t=2,  $t_1 = 8 \sec \theta = t_2 = 2 \sec \theta$ Since V= 160 - 32+ ti = 25 (h) = 160-32(2) = 160-64 (42) = 96m/sec => upward velocity t= 85 Vu= 160 - 32(8) 160 - 256 1 = -96 mls => downword velocity.

= 4x3 dx - 2x2x dx +0  $= 4x^3 - 4x + 0$  $\frac{dy}{dx} = 4x^{3} - 4x$ If the Tongent is thorizontal them dy = 0  $50 \qquad 4x^3 - 4x = 0$  $4x(x^2 - 1) = 0$  $4x = 0, x^2 - 4 = 0$  $-=\frac{0}{4}$ ,  $x^2-1=0$ X=0 x2-1 2 Tx2 = NI X=0,  $x = \pm 1$ So X=0, 1, -1 their conceponding point in. 7

Nome: Syild Atmad 10 th semegto Madelo: Praymen: BE(E) 70: 12671 Signat: Calquilas Sy Instructor 3 Sir, Himmetellah  $y = x^{y} - 2x^{2} + 2$ for X=0 y= x - 2x2+2 = (0) - 2(0) +2 = 0-0+2 4=2 tor x=1 y= x - 2x2+2 y= (1) - 2(1)2+2 y= 1-2+2 4=1 X= -1 y= x4-2x2+2  $= (-1)^2 - 2(-1)^2 + 2$ = 1-2+2 14=1] Hence, (0,2), (1,1), (-1,1) point 8